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1 TiEEOFEME (B R U2 M)

2 T AT Hiz2 23 figa | | TEMECHE ) SO

1 |Ast-n-LqT Hit e BHAsIF t 35,768 35,768
2 |[Ast-w-L1T T AR kil t 58,850 58,850
3 BT B RUBHESY  |RERSEE m2 146 146
4 |BET e RUBHELL  |RERSEE m2 125 125
5 |mmpET 2EANYE SEFHEHALL (85 ken 15,743 15,743
6 |EBLHME EHT [ —tBEE  [DT2a LTRSS m 3,730 3,730
7 |BtBE-EMT  |#HBH0.28ms DT4tH A i m3 7,109 7,109
8 [Wyr—tBET AEINYE -} LO5WER LO3>mELE m 2553 2553
9 |Nyr-HEET AT} +O3WE% m 1,356 1,356
10 |R/—R—LEREI |{EABEER BE ¥:N 1,286 1,286
11 |R/—R—ILREL |EABEER G ¥:N 1,286 1,286
12 | XEBt05T BE-RE EEZEOMUT  |(LO53FHALE £ 8,824 8,824
13 | RIBEHBIET mBEH BEEHEASIF | BNk t 239,578 239,578
14 [F-FL-IRBT  |E+mE Gr-C-4E [~ m 9,773 9,773
15 |SEFHEHEA A 28,619 28,619
16 |TEHEEHES A 24,479 24,479
17 |makEmarsen | eET &l 59,633 59,633
18 | WMk B R EE HET B 59,633 59,633
19 |makE SRR R EE | BEAR TR Bl 13,068 13,068
20 |mukHEmRETEE B AR 3z = 14,948 14,948
21 |mukHEmRETEE B aH TR Bl 9,560 9,560
22 |muknEmnETEE |EE AR 3z El 10,939 10,939
23 |muk TR RTEE EER SARNYBEE 5| 2,198 2,198
24 |n—supEsms (S0 Poed | EEEER #Em HER 67% B 29,400 29,400
25 |n—sypEmEs L1 100 R BHR2KIH R 67% B 30,000 30,000
26 REF—viEs SR 0B BEEER BEE 67% B 27,200 27,200
27 |[BRER—YEE T R REREE HEH 67% B 24,400 24,400
28 RErSvoEe TR TR REEER BEE 67% B 30,400 30,400
20 | Al LA e T o 29mS eyt HER 67% B R 22700 22700
30 |SeEEAIA Bt T - 4 HEE 67% ¢ 3,700 3,700
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